Artificial Intelligence (CS6380)

State Space Search



IDA*: iterative deepening A*

path current search path (acts like a stack) ’%S’\A/m C/' ’h/\O\x_ 5T0.tt (¢ F& Ce AN

node current node (last node in current path)

g the cost to reach current node \ \L
f estimated cost of the cheapest path (root..node..goal) <N x !! r&a J/\O\,&

h (node) estimated cost of the cheapest path (node..goal) w\/\ M

cost(node, succ) step cost function \ﬂJ M

is_goal (node) goal test

successors (node) node expanding function, expand nodes ordered by g + h(node) R
ida_ star(root) return either NOT FOUND or a pair with the best path and its cost ‘}_ M A M

procedure ida star(root) 1\s
bound := h(root) ~ )
oo B 1 CAaawn | DK . oo«m.Pv\tcA zf{: ‘VVML

loop '
t := search(path, 0, bound) '
if t = FOUND then return (path, bound) \ W\/\ l DA_& W
if t = o then return NOT FOUND t’am
bound := t Q\/m QW\ ’
end loop t—
end procedure ; (/\m C — & 1:‘( ‘) C ~— ws fL
subrkom | = L4 ) & '
function search(path, g, bound) .
node := path.last

\ -
f := g + h(node) l b*\A'I_
if £ > bound then return f ‘P, _F \ Ve N

if is goal(node) then return FOUND

min := o /\/\/\.> %4) ' ~
for succ in successors(node) do bw w m
if succ not in path then

path.push(succ)

t := search(path, g + cost(node, succ), bound)
if t = FOUND then return FOUND S éz "

if t < min then min := t

path.pop()
end :23 H ?)/ \ )
return min bo LL) 4 , , b( 461 <é 4 LLT’

end function \

peunds code o Wikapudia ok Jwtvf\va — - .




IDA*: iterative deepe
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IDA*: |terat|ve deepenlng A*
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